CHEMISTRY

BOOKS - SURA CHEMISTRY (TAMIL
ENGLISH)

TYPES OF CHEMICAL REACTONS

Textbook Evaluation Choose The Correct Answer

1. Hy(g) —|—Cl29(9) — 2H0l(g) is a


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_tC7vZRZKOm1N

A. Decompostion Reactiion

B. Combination Reaction

C.single Displacement reaction

D. Double Displacement Reaction

Answer: B

o Watch Video Solution

2. Photolysis is a decomposition reaction

caused by


https://dl.doubtnut.com/l/_tC7vZRZKOm1N
https://dl.doubtnut.com/l/_lpTD9LrHWCB7

A. heat

B. electricity

C.light

D. mechanical energy

Answer: C

o Watch Video Solution

3. A reaction between carbon and oxygen is
represented by C(;) + Oz(y) = COz(4) +

Heat . In which of the type (s) , the above


https://dl.doubtnut.com/l/_lpTD9LrHWCB7
https://dl.doubtnut.com/l/_IyHyCtFZwnue

reaction can be classified ?

(i) Combination Reaction

(ii) Combustion Reaction

(ili ) Decomposition Reaction

(iv) Irreversible Reaction

A.landii

B.land iv

C. Liii and iii

D. Lii and iv

Answer: D

| 8


https://dl.doubtnut.com/l/_IyHyCtFZwnue

4.The chemical equation

Na'2SO4(aq) — BaSO4(9) + ZNG'CZ(GQ)

represents which of the following types of
reaction ?

A. Neutralisation

B. Combustion

C. Precipitaion

D. single displacement


https://dl.doubtnut.com/l/_IyHyCtFZwnue
https://dl.doubtnut.com/l/_3QodnQEHThVW

Answer: C

o Watch Video Solution

5. Which of the following statement are
correct about a chemical equilibrium?

(1) It is dynamic in nature

(ii) The rate of the forward and backward
reactions are equal at equilibrium

(iii) Irreversible reactions do not attain

chemical equilibrium


https://dl.doubtnut.com/l/_3QodnQEHThVW
https://dl.doubtnut.com/l/_YBW1eAC3yzKR

(iv ) the concentration of reaotants and

products may be different

A. Lii and iii
B. Lii and iv
C. ii,iii and iv
D. Liii and iv
Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_YBW1eAC3yzKR

6. A single displacement reaction s

represented by

X(S) ‘|—2H0l(aq) — XClz((GQ))+h2(aq)‘

which of the following (s) could be x?
(i) Zn (ii) Ag (iii ) Cu (iv) Mg.

Choose the best pair.

A.land ii
B. ii and iii
C.iliand iv

D.land iv


https://dl.doubtnut.com/l/_TglORSWdnoGP

Answer: D

o View Text Solution

7. Which of the following is not an "element +
element — compound " type reaction?
A-Cs) +O02(9) = C2(y)
B.ZK(S) + B’I°2(l) — ZKBT(S)
C. ZCO(g) + Og(g) — 2002(9)

D.4Fe 4y + 302(4) — 2Fey03 )


https://dl.doubtnut.com/l/_TglORSWdnoGP
https://dl.doubtnut.com/l/_kQs9li2KNcvf

Answer: C

o Watch Video Solution

8. which of the following represents a
precipitaion reaction ?
A Ay + By = Crsy + Dy
B.A(s) + B(ag) = Cag) + D)
C.A(ag) + Bag) = Cs) + D(ag)

D.A(ag) +B(s) = Clag) + D1


https://dl.doubtnut.com/l/_kQs9li2KNcvf
https://dl.doubtnut.com/l/_2PdebewFYVzt

Answer: C

o View Text Solution

9. The pH of a solution is 3. Its [OH‘}

concentration is

Alx103M
B.3M
C.1x10 1M

D.11M



https://dl.doubtnut.com/l/_2PdebewFYVzt
https://dl.doubtnut.com/l/_Ps2dplJw2lmp

Answer: C

o View Text Solution

10. Powered C'aC'O5 reacts more rapiddly than

flaky CaCO3 because of

A. Large surface area

B. high pressure

C. high concentration

D. high temperature


https://dl.doubtnut.com/l/_Ps2dplJw2lmp
https://dl.doubtnut.com/l/_zNiDNa1QCtIG

Answer: A

o Watch Video Solution

Textbook Evaluation Fill In The Blanks

1. A reaction between an acid and a base is

o Watch Video Solution



https://dl.doubtnut.com/l/_zNiDNa1QCtIG
https://dl.doubtnut.com/l/_cGpq6RPlVoWa

2. When lithium metal is placed in hydrochloric

acid, gas is evolved .

o Watch Video Solution

3. The equilibrium attained during the melting

of ice is knows as

o Watch Video Solution



https://dl.doubtnut.com/l/_U95iSqcaL3lx
https://dl.doubtnut.com/l/_ubkfR0d8mhH3

4. The pH of a fruit juice is 5.6 . If you add

slaked lime to this juice , its pH

(increase / decrease )

o Watch Video Solution

5. The value of ionic product of water at 25°C

o Watch Video Solution



https://dl.doubtnut.com/l/_3Tnvt2lleP1S
https://dl.doubtnut.com/l/_tk1RWdQIRXNu

6. The normal pH of human blood is

o Watch Video Solution

7. Electrolysis is type of reaction .

o Watch Video Solution

8. The number of products formed in a

synthesis reaction is

° Watch Video Solution



https://dl.doubtnut.com/l/_PuAAuFCqinPE
https://dl.doubtnut.com/l/_xaJg154S8M8R
https://dl.doubtnut.com/l/_oVNs5GAizlct

9. chemical volcano is an example for

type of reaction .

o Watch Video Solution

10. The iron formed by dissolution of H ™ in

water is called

o Watch Video Solution

Textbook Evaluation Match The Following


https://dl.doubtnut.com/l/_oVNs5GAizlct
https://dl.doubtnut.com/l/_XnNJB5YXyPH0
https://dl.doubtnut.com/l/_clr7tQ4KLQR4

1.l

o View Text Solution

Textbook Evaluation True Or False If False Give

The Correct Statement

1. Silver metal can displace hydrogen gas from

nitric acid.

o Watch Video Solution



https://dl.doubtnut.com/l/_FAxk0ZctzZXO
https://dl.doubtnut.com/l/_cBjMQ7DYjfsa

2. The pH of rain water containing dissolved

gases like SO3, COy, NO5 will be less than 7.

° Watch Video Solution

3. At the equilibrium of a reversible reaction ,
the concentration of the reactants and the

products will be equal .

° Watch Video Solution



https://dl.doubtnut.com/l/_tjFiDkco0chU
https://dl.doubtnut.com/l/_aFYwMiNkM1rd

4. Periodical removal of one of the products of

a reversible reaction increases the yield .

o Watch Video Solution

5. On dipping a pH paper in a solution , it

turns into yellow, then the solution is basic .

o Watch Video Solution

Textbook Evaluation Short Answer Questions



https://dl.doubtnut.com/l/_rtViko874i1P
https://dl.doubtnut.com/l/_IJLOMgeXX3HT
https://dl.doubtnut.com/l/_Hu89XQFgeh36

1. When an aqueous solution of potassium
chloride is added to an aqueous solution of
silver nitrate, a white precipitate is formed.

Give the chemical equation of this reaction.

o Watch Video Solution

2. Why does the reaction rate of a reaction

increase on raising the temperature ?

° Watch Video Solution



https://dl.doubtnut.com/l/_Hu89XQFgeh36
https://dl.doubtnut.com/l/_I2bhXMlq5Xix
https://dl.doubtnut.com/l/_K3HrX5mZ3tTZ

3. Define combination reaction . Give one
example for an exothermic combination

reaction .

° Watch Video Solution

4.What is meant by reversible and irreversible

processes ?

o Watch Video Solution

Textbook Evaluation Answer In Detail



https://dl.doubtnut.com/l/_K3HrX5mZ3tTZ
https://dl.doubtnut.com/l/_pA9uDfNJ99ju

1. What are called thermolysis reactions?

o View Text Solution

2. Explain the types of double displacement

reactions with examples .

o View Text Solution

3. Explain the factors influcencing the rate of a

reaction



https://dl.doubtnut.com/l/_bXmQJeXSHstm
https://dl.doubtnut.com/l/_PQxJ0eScKE2p
https://dl.doubtnut.com/l/_gTrbbSr21zPc

o Watch Video Solution

4. How does pH play ann important role in

everyday life?

° Watch Video Solution

5. What is a chemical equilibrium ? What are

its characteristics ?

o Watch Video Solution



https://dl.doubtnut.com/l/_gTrbbSr21zPc
https://dl.doubtnut.com/l/_MJpX9WtqwqZm
https://dl.doubtnut.com/l/_Rl1M4hR5HZLZ

Textbook Evaluation Hot Questions

1. A solid compound 'A' decomposes on
heating into 'B' and a gas 'C' . On passing the
gas 'C' through water , it becomes acidic

Identify A,B and C.

o Watch Video Solution

2. Can a nickel spatula be used to stir copper

sulphate solution ? Justify your answer .

I ° Watch Video Solution


https://dl.doubtnut.com/l/_J9dyhENVNAUI
https://dl.doubtnut.com/l/_SYgofnS3QQsd

Textbook Evaluation Solve The Following

Problems

1. Lemon juice has a pH 2, What is the

concentration of H ™ ions ?

o Watch Video Solution

2. Calculate the pH of 1.0 x 10~* molar

Solution of HNOs.

| e |


https://dl.doubtnut.com/l/_SYgofnS3QQsd
https://dl.doubtnut.com/l/_FJvzOTdo415T
https://dl.doubtnut.com/l/_uAjuABm5nApd

& watch Video Solution ]

3. What is the pH of 1.0 x 107> molar

solution of KOH ?

o Watch Video Solution

4. The hydroxide ion concentration of a
solutions is 1 x 10 M . What is the pH of the

solution ?

o Watch Video Solution



https://dl.doubtnut.com/l/_uAjuABm5nApd
https://dl.doubtnut.com/l/_MdR5MTUolCX5
https://dl.doubtnut.com/l/_Rcq0jG3xvJ43

Government Exam Questions Answers

1. Why does the reaction rate of a reaction

increase on raising the temperature ?

o Watch Video Solution

Additional Question Answers Choose The Correct

Answer

1. Which of the following information is not

conveyed by a balanced chemical equation ?


https://dl.doubtnut.com/l/_p0BHaQYfJEc5
https://dl.doubtnut.com/l/_UbqsSvhPGz8h

A.physical states of reactants and

products

B. Symobols and chemicals formula of

reactants and products

C. Number of atoms / molecules of the

reactants and products formed

D. Feasibility of a chemical reaction

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_UbqsSvhPGz8h
https://dl.doubtnut.com/l/_i7O6cxK9nJi8

2. The products formed when calcium oxide

reacts with water is

A. Slaked lime

B. Carbon dioxide

C. Calcium oxide

D. Oxygen gas

Answer: A

O Watch Video Solution



https://dl.doubtnut.com/l/_i7O6cxK9nJi8
https://dl.doubtnut.com/l/_H1DBqmRUWGZo

3. The reaction between hydrogen and oxygen

gas to form water is reaction .

A. combination

B. redox

C. exothermic

D. all of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_H1DBqmRUWGZo

4. An element 'A' on exposure to moist air

turns to form compound 'B' Which is reddish

brown . Identify 'A' and 'B'.

A.Ais Ag ,'B'is Ag,

B.A'is Cu,B'is CuO

C.A'is Mg ,/B'is MgO

D.A'is Fe,'B'is FesO3

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_iAPxsBRVOBiL

Heat

5.0&003(8) — C’aSO(s) + COz(aq)
The above thermal decompostion reaction is

an reaction .

A. endothermic

B. exotermic

C. Both (a) and (b)

D. Neither (a) nor (b)

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_xaJnWFIjPS5U

6. Formation of ammoina from nitrogen and

hydrogen is an example of reaction .

A. Thermal decompostion

B. combination

C. Precipitaion

D. Displacement

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Lr40E7y9zfwK
https://dl.doubtnut.com/l/_YeElT41kuVqi

7. Which among the following chemical
reaction is an example of combination

reaction ?
(1)Ha(g) + Cly(g) — 2HCL )
(ii)NaOH(aq) + HCl(aq) + H2O(l)
(iii)ZMg(s) + Oz(g) — 2MgO ()
(Iv) Zn(s) + 2H0l(aq) — ZnCly + H2(g)
A. Only (i)
B. Both (i) and (ii)
C. Only (iii)

D. Both (i) and (ii)


https://dl.doubtnut.com/l/_YeElT41kuVqi

Answer: A

o Watch Video Solution

8. Pick out : compound + element

compound type of combination reaction

C. PCI3Cl2 — PCl5


https://dl.doubtnut.com/l/_YeElT41kuVqi
https://dl.doubtnut.com/l/_tIQqPn3GOnDE

Answer: C

o View Text Solution

9. Decompostion reactions are brought about

A. Heat

B. light

C. elecetric current

D. all the above


https://dl.doubtnut.com/l/_tIQqPn3GOnDE
https://dl.doubtnut.com/l/_EpW0uBcnQly2

Answer: D

o Watch Video Solution

10. When Zinc metal is placed in hydrochloric

acid , the gas evolved is

A.CO

B.CO,

C. H,

D. H,O


https://dl.doubtnut.com/l/_EpW0uBcnQly2
https://dl.doubtnut.com/l/_YlJJLlhke8Mb

Answer: C

o Watch Video Solution

11. Pick out a chemical reaction which is not

feasible

A 2NaCl — 2Na + Cl,

B.2NaCl + F — 2NaF + Cl,

C.2Naf + Cly — 2NaCl + F

D. NaOH + HCl — NaCl +, O


https://dl.doubtnut.com/l/_YlJJLlhke8Mb
https://dl.doubtnut.com/l/_3Q8zDViYcjjC

Answer: C

o View Text Solution

12. Pick out the metal that displaces hydrogen

from hydrochloric acid .

A.Zinc

B. silver

C. copper

D. Gold


https://dl.doubtnut.com/l/_3Q8zDViYcjjC
https://dl.doubtnut.com/l/_prqrnHOnpydD

Answer: A

o Watch Video Solution

13. When a double displacement reaction takes

place, one of the products must be

A. Precipitate

B. Water

C. either (a) or (b)

D. neither (a) nor (b)


https://dl.doubtnut.com/l/_prqrnHOnpydD
https://dl.doubtnut.com/l/_buNY14Ws8YQv

Answer: C

o Watch Video Solution

14. Pb(N03)2 + 2KI — PbIz + 2KN03 Is a

reaction

A. neutralization
B. Precipitiation
C. decomposition

D. Combustion


https://dl.doubtnut.com/l/_buNY14Ws8YQv
https://dl.doubtnut.com/l/_56SC1638jFoN

Answer: B

o Watch Video Solution

15. Heat is evolved during reaction .

A. Combination
B. Combustion
C. decomposition

D. Endothermic

Answer: B


https://dl.doubtnut.com/l/_56SC1638jFoN
https://dl.doubtnut.com/l/_7kfs4fGmVVcs

° Watch Video Solution

16. Which among the following is not a

balanced equation ?

AF€+Cl2 — F€Cl3

B.Zn+ S — ZnS

C. CaCO 3 to CaO+C02

D. Fe + CuSO, — FeSO, + Cu

Answer: A

| 8 l


https://dl.doubtnut.com/l/_7kfs4fGmVVcs
https://dl.doubtnut.com/l/_falM9z4Cquh9

17. Which among the following factors affect

the rate of a reaction ?

A. Surface area of reactants

B. Pressure

C. Temperature

D. all the above

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_falM9z4Cquh9
https://dl.doubtnut.com/l/_IXlfrSg8uww0

18. The value of ionic product of water at

25°C'is

A. 1.00 x 10

B.1.00 x 10~ 14

C.1.00 x 10*

D.1.00 x 104

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_IXlfrSg8uww0
https://dl.doubtnut.com/l/_HGfkhbIt3YVO

19. lonic product of water is expressed as

A Ky = |H;0" | |OH ™|
B.Ky = |[H"||OH |
C. Both (a) and (b)

D. Neither (a) nor (b)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_zC3UyMtZbNy1
https://dl.doubtnut.com/l/_Sm22R5ToBBD6

20. Acids have pH .

A. Less than 7

B. greater than 7

C.equal to 7

D. less than 14

Answer: A

° Watch Video Solution

21. chemically rust is


https://dl.doubtnut.com/l/_Sm22R5ToBBD6
https://dl.doubtnut.com/l/_MjbM3zbaNRib

A. hydrated ferrous oxide

B. ferrous oxide

C. hydrated ferric oxide

D. ferric oxide

Answer: C

o Watch Video Solution

22. when copper sulphate is dissolved in water

, the solution would be


https://dl.doubtnut.com/l/_MjbM3zbaNRib
https://dl.doubtnut.com/l/_8WhdTVJ2niQw

A. Colorless

B. Blue

C. Green

D. Brown

Answer: B

0 Watch Video Solution

23. Which of the following reactions is not

feasible ?


https://dl.doubtnut.com/l/_8WhdTVJ2niQw
https://dl.doubtnut.com/l/_N2lo2rsoshbf

A. Zn + CuSO4 — ZnS0O,4 + Cu
B.2Ag + Cu(NO3), - AgNO3 + Cu
C.Fe + CuSO4 — FeSO, + Cu

D. Mg + 2HCI — MgCl, + H,

Answer: B

° Watch Video Solution

Additional Question Answers Fill In The Blanks



https://dl.doubtnut.com/l/_N2lo2rsoshbf

1. Water freezes into ice an example

Change.

° Watch Video Solution

2. When rate of backward reaction is equal to
rate to rate of reaction , the stage is called
when rate of backward reaction is equal to

rate of forward reaction , the stage is called

° Watch Video Solution



https://dl.doubtnut.com/l/_p3M4JsXXWKsA
https://dl.doubtnut.com/l/_2MavLNNGCdwP

3. The unit of ionic product of water is

o Watch Video Solution

4. pH of vinegar is

o Watch Video Solution

5. The pH value of milk of magnesia is 10

in nature.

tis



https://dl.doubtnut.com/l/_2MavLNNGCdwP
https://dl.doubtnut.com/l/_MCeDDsDaBmKD
https://dl.doubtnut.com/l/_BFTEVipUjblG
https://dl.doubtnut.com/l/_t5g2uW2lVnfY

| ¥ Watch Video Solution |

6. A chemical reaction which involves addition

of oxygen is called as

o Watch Video Solution

7. A reaction in which two or more reactants

combine to form a compound is known as

o Watch Video Solution



https://dl.doubtnut.com/l/_t5g2uW2lVnfY
https://dl.doubtnut.com/l/_oVlBReZDPjHm
https://dl.doubtnut.com/l/_CsUH1KBdX8kI

8. is used to meassure pH value of a

solution in school laboratory

o Watch Video Solution

9. Single compound breaks down to produce

two or more substance is known as

reaction .

o Watch Video Solution



https://dl.doubtnut.com/l/_B5ADLn3tneNF
https://dl.doubtnut.com/l/_SwLm2e36LqH2

10. is the most reactive metal .

o Watch Video Solution

11. The reaction that produces a precipitate is

° Watch Video Solution

12. The chemical reactions which takes place

with the evolution of heat energy are called


https://dl.doubtnut.com/l/_ia7PEQov4QWS
https://dl.doubtnut.com/l/_wqvjvg7pfEdE
https://dl.doubtnut.com/l/_WNDZ19nj8l3M

. Reaction

o Watch Video Solution

13. chemical formula for marble is

o Watch Video Solution

14. pH scale was introduced by .

o Watch Video Solution



https://dl.doubtnut.com/l/_WNDZ19nj8l3M
https://dl.doubtnut.com/l/_zeAGhj9CBpVJ
https://dl.doubtnut.com/l/_ULYZ76mT8cRv
https://dl.doubtnut.com/l/_nIqfzzyOO7iL

o Watch Video Solution



https://dl.doubtnut.com/l/_nIqfzzyOO7iL
https://dl.doubtnut.com/l/_uiTaZp605SKI
https://dl.doubtnut.com/l/_uJZgqHIQ24Wo
https://dl.doubtnut.com/l/_0KPEBICX1aJM

18. Rain water is

o Watch Video Solution

19. Rain water is polluted by oxide of

and

° Watch Video Solution

20. pH of an acidic solution is

° Watch Video Solution



https://dl.doubtnut.com/l/_0KPEBICX1aJM
https://dl.doubtnut.com/l/_xp894OJTpS0u
https://dl.doubtnut.com/l/_Nr6qqxfZxoMt

21. When solid potassium reacts with liquid

Water it produces and solution .

o Watch Video Solution

22. LPG is a mixture of hydrocarbon gases like

o Watch Video Solution



https://dl.doubtnut.com/l/_XZu2iLJvdzTO
https://dl.doubtnut.com/l/_jNzUfEVxMqrK

23. is poured on a wound it decomposes

into water and oxygen .

o Watch Video Solution

24. The reaction that cannot be reversed is

called

o Watch Video Solution

25. plays a vital role in everday life .



https://dl.doubtnut.com/l/_It5lz8LAVgsj
https://dl.doubtnut.com/l/_bqGd0TNHaIeT
https://dl.doubtnut.com/l/_GywY00Ym1SZK

o Watch Video Solution

26. is a weak electrolyte.

o Watch Video Solution

27. All photo decomposition reaction are

reactions.

o Watch Video Solution



https://dl.doubtnut.com/l/_GywY00Ym1SZK
https://dl.doubtnut.com/l/_sgXTQ6znY9jg
https://dl.doubtnut.com/l/_5QGxQms7ksYZ

28. is used for white washing walls .

o Watch Video Solution

29. Calcium hydroxide reacts slowly with

carbon dioxide in air to form a thin layer of

o Watch Video Solution



https://dl.doubtnut.com/l/_9QgIJGyyuq7S
https://dl.doubtnut.com/l/_dcr4NzUjXKCz

30. When calcium carbonate is heated , it

breaks down into and

o Watch Video Solution

31. Reaction , in which heat is absorbed , are

called

o Watch Video Solution



https://dl.doubtnut.com/l/_S9EvpiOSUkcV
https://dl.doubtnut.com/l/_LGRU8MnBSg4m

32. Sodium chloride decomposes into metallic

sodium and chlorine gas by a process called

o Watch Video Solution

33. IF an iron nail is placed in an aqueous

solution of copper sulphate the

displaces

o Watch Video Solution



https://dl.doubtnut.com/l/_AvFkrkkx1jaF
https://dl.doubtnut.com/l/_l8I6nLBATUOf
https://dl.doubtnut.com/l/_i4ZNDg6LsfJV

34. When two compounds react . If their ions

are interchnged , then the reaction is called

o Watch Video Solution

35. One or more reactants combine to form a

single product in reactions.

° Watch Video Solution



https://dl.doubtnut.com/l/_i4ZNDg6LsfJV
https://dl.doubtnut.com/l/_9RG7dtbU80sI

36. Single reactant is decomposed to form one

or more products in reactions

o Watch Video Solution

37. The compounds formed during a chemical

reaction are

o Watch Video Solution

38. The arrow indicates of a reaction .



https://dl.doubtnut.com/l/_17zQ7whgx6pg
https://dl.doubtnut.com/l/_Xfs3DSyXDTz8
https://dl.doubtnut.com/l/_2I1PNnZeXSOv

o Watch Video Solution

39. In a chemical reaction , the atoms of the

reacting molecules or elements are to

form new molecules .

o Watch Video Solution

40. Bond breaking energy during a

chemical reaction .

o Watch Video Solution



https://dl.doubtnut.com/l/_2I1PNnZeXSOv
https://dl.doubtnut.com/l/_UB09MRFtq66s
https://dl.doubtnut.com/l/_rUanLqVh7IEp

41. Bond formation energy during a

chemical reaction .

o Watch Video Solution

42. Yellow precipipate of lead iodide from lead

nitrate is an example of reaction .

o Watch Video Solution



https://dl.doubtnut.com/l/_rUanLqVh7IEp
https://dl.doubtnut.com/l/_i6AHnnTRIfhA
https://dl.doubtnut.com/l/_rae9Vqcrnc9o

43. Double displacement reactions are also

called reactions.

° Watch Video Solution

44, A displacement reaction in which the acid
reacts with the base to form a salt and water

is called reaction .

° Watch Video Solution



https://dl.doubtnut.com/l/_xerWHuYVo8Ed
https://dl.doubtnut.com/l/_xCpZlopeh5CC

45. Ammonium hydroxide reacts with it

forms ammonium nitrate and water .

° Watch Video Solution

46. A combustion is one in which the reactant

rapidly combines with to form one ore

more oxides and energ .

° Watch Video Solution



https://dl.doubtnut.com/l/_q2rvrNYbI0BN
https://dl.doubtnut.com/l/_q5apxaGdK3Ig

47. The amount of the substance present in a

certain volume of the solution is called

o Watch Video Solution

48. Combustion reactions are majorly used as

sources .

o Watch Video Solution



https://dl.doubtnut.com/l/_D0kykfI3nzZJ
https://dl.doubtnut.com/l/_wsy9HzCVmFnZ

49. Combustion may be called as an

oxidation

o Watch Video Solution

50. Our Mobile phone gets energy from its

battery by chemical reactions .

o Watch Video Solution



https://dl.doubtnut.com/l/_XBsrYTyblpnK
https://dl.doubtnut.com/l/_eZWhyvtHWLSR

51. On recharging the mobile are

reversed .

o Watch Video Solution

52. IF the compound undergoes

decomposition to form the products, it is

reaction .

o Watch Video Solution



https://dl.doubtnut.com/l/_2NKuuOAPFuam
https://dl.doubtnut.com/l/_a2YFCVZCk2y1

53. The combination of products in a

reversible reactions is called Reaction.

° View Text Solution

54. A reversible reaction is represented by a

arrow with their heads in the opposite

direction .

° Watch Video Solution



https://dl.doubtnut.com/l/_QJehMMQYrvaP
https://dl.doubtnut.com/l/_vejtIes5i6dm

55. Equilibrium is not attained in an

reaction .

o Watch Video Solution

56. The negative sign in the rate of a reaction

indicates the decrease in the

o Watch Video Solution



https://dl.doubtnut.com/l/_hkFvxuxHNsd3
https://dl.doubtnut.com/l/_i9NFJh8j8aRo

57. The in the rate of reaction indicates

the increase in the concentration .

o Watch Video Solution

58. The reaction of sodium with hydrochloric

acid is faster than that with

o Watch Video Solution



https://dl.doubtnut.com/l/_V0rGHqOCjfkY
https://dl.doubtnut.com/l/_4lrxLTeFxbgy

59. The reaction of sodium with hydrochloric

acid is faster than that with

o Watch Video Solution

60. reactions are unidirectonal .

o Watch Video Solution

61. When the reaction mixture is heated the

reaction rate



https://dl.doubtnut.com/l/_RgYGo8Q7hWxh
https://dl.doubtnut.com/l/_j94YubkrlCRE
https://dl.doubtnut.com/l/_jCiId4BCVAYI

View Text Solution

62. IF the reactant are increasing their

pressure increase the reaction rate.

o Watch Video Solution

63. is a substance which increases the

reaction rate without being consumed in the

reaction.

o Watch Video Solution



https://dl.doubtnut.com/l/_jCiId4BCVAYI
https://dl.doubtnut.com/l/_Uzq1Gichf5kX
https://dl.doubtnut.com/l/_sqAygH0Nuz3f

64. On heating potassium chlorate , it

decomposes into and gas .

o Watch Video Solution

65. Equilibrium attained in a chemical reaction

is called

o Watch Video Solution



https://dl.doubtnut.com/l/_sqAygH0Nuz3f
https://dl.doubtnut.com/l/_vY5y4KY4oxcL
https://dl.doubtnut.com/l/_dpMIlXn8pRWT

66. Food kept at the refrigerator is safe a

longer period due to Reaction rate.

° Watch Video Solution

67. The state at which the rate of forward
reaction becomes equal to the rate of

backward reaction is called state.

° Watch Video Solution



https://dl.doubtnut.com/l/_HrveMLIThT6h
https://dl.doubtnut.com/l/_UCRnnIs2Sd4m

68. The rate of a reaction is directly

proportional to the

o View Text Solution

69. A speeds up the reaction .

o Watch Video Solution

70. Decomposition reaction is the opposite of

reaction .



https://dl.doubtnut.com/l/_FwjLTbdVkMmy
https://dl.doubtnut.com/l/_yl0E9jLiGHVm
https://dl.doubtnut.com/l/_YEoMpUXVesyK

o Watch Video Solution

71. The number of atoms of the reactants and

that of the products must be in a

chemical reaction.

o Watch Video Solution

72. When sodium combines with chlorine .it

forms an edible compound named

o Watch Video Solution



https://dl.doubtnut.com/l/_YEoMpUXVesyK
https://dl.doubtnut.com/l/_39mgrPQ6Q4FI
https://dl.doubtnut.com/l/_1m9SDAqN9I8P

73. Most of the combination reactions are

in nature.

o Watch Video Solution

74.1n a reaction , a single compound

splits into two or more simpler substances

under suitable conditions .

o Watch Video Solution



https://dl.doubtnut.com/l/_1m9SDAqN9I8P
https://dl.doubtnut.com/l/_hOVWVmnFXkw5
https://dl.doubtnut.com/l/_RNceDpQQ0XJp
https://dl.doubtnut.com/l/_jOuL7fwrr36l

75. iIs the major phenomenon in a

decomposition reaction .

o Watch Video Solution

76. Chemical equilibrium can be attained in a

o Watch Video Solution

77. The rate of the backward reaction

with time..


https://dl.doubtnut.com/l/_jOuL7fwrr36l
https://dl.doubtnut.com/l/_XRHqLtSvaWUl
https://dl.doubtnut.com/l/_hCMQp5g7GQfC

° View Text Solution

78. the decompostion of calcium carbonate

into lime and carbon dioxide is a reaction

° Watch Video Solution

79. The concentration of decide whether

the solution is acidic or basic.

o Watch Video Solution



https://dl.doubtnut.com/l/_hCMQp5g7GQfC
https://dl.doubtnut.com/l/_ZGdZnhZU4XYv
https://dl.doubtnut.com/l/_rPZKfNweMn1m

80. A Scale is used to decide whether the

solution is acidic or basic.

° Watch Video Solution

81. The meaning of the German word potenz is

o Watch Video Solution



https://dl.doubtnut.com/l/_rPZKfNweMn1m
https://dl.doubtnut.com/l/_nJgkQvlq4eJI
https://dl.doubtnut.com/l/_uCUwsc389wJy

82.The 'P' in pH stands for

o Watch Video Solution

83. pH notation was devised by the the

o Watch Video Solution

84. The pH is the negative logarithm of the

concentration .

° View Text Solution



https://dl.doubtnut.com/l/_VqsdKEYm6Hd0
https://dl.doubtnut.com/l/_5MwmwianCP8q
https://dl.doubtnut.com/l/_cFpr9FBwOfLp

85. The pOH is the negative logarithum of the

concentration .

o View Text Solution

86. the pH of a solution can be determined bu

using a

o View Text Solution



https://dl.doubtnut.com/l/_cFpr9FBwOfLp
https://dl.doubtnut.com/l/_qPlCSaQzSbZt
https://dl.doubtnut.com/l/_Vv24iopLqRwR

87. Stomach fluid contains

o Watch Video Solution

88. The pH of sour milk is

o Watch Video Solution

89. The pH of fresh milk is

o Watch Video Solution



https://dl.doubtnut.com/l/_Bjgipu3ImRy6
https://dl.doubtnut.com/l/_OGZMa2nHxZdn
https://dl.doubtnut.com/l/_3AjxwBtjsilb

90. The pH of sea water is

o Watch Video Solution

91. The pH of egg white is

o Watch Video Solution

92. The pH of baking soda is

o Watch Video Solution



https://dl.doubtnut.com/l/_3VOIKIixYUde
https://dl.doubtnut.com/l/_5DAckIohQhl0
https://dl.doubtnut.com/l/_tJ4HsPw7SNFl

93. the pH of HCl is

o Watch Video Solution

94. pH of vinegar is

o Watch Video Solution

95. The pH of milk of magnesia is

o Watch Video Solution



https://dl.doubtnut.com/l/_6FtrXlwfTWWe
https://dl.doubtnut.com/l/_mKZ5uVSwaEj5
https://dl.doubtnut.com/l/_gMLtjeSniViN

96. Conductivity of water has resulted from

the of Water.

o View Text Solution

97. is a reaction is which two like

molecules react to give ions.

o View Text Solution



https://dl.doubtnut.com/l/_FtRBaFTe5H2T
https://dl.doubtnut.com/l/_ShPEUAs0TBpe

98. The ionic product of water can

expressed as

be

o View Text Solution

99. Acids have pH __ than 7.

o Watch Video Solution

100. Bases have pH than 7.

o Watch Video Solution



https://dl.doubtnut.com/l/_OONMK0IM2b3D
https://dl.doubtnut.com/l/_1LuHjUN5t20A
https://dl.doubtnut.com/l/_L6vEsKZH7zEN

101. A neutral solution has pH to 7.

o Watch Video Solution

102. is also called as auto ionization .

o Watch Video Solution

103. The ionic product of water is denoted as



https://dl.doubtnut.com/l/_L6vEsKZH7zEN
https://dl.doubtnut.com/l/_s7UP6qOAKAsB
https://dl.doubtnut.com/l/_hd451uPGukRJ
https://dl.doubtnut.com/l/_9JLGtUxhTZTx

o Watch Video Solution

104. Our body works within the pH range of

to

o Watch Video Solution

105. the pH of blood is from to

o Watch Video Solution



https://dl.doubtnut.com/l/_9JLGtUxhTZTx
https://dl.doubtnut.com/l/_jK18Hp1LzS1W
https://dl.doubtnut.com/l/_N8LwiIHueDy1

106. The ideal pH for blood is

o Watch Video Solution

107. pH of the stomach fluid s

o Watch Video Solution

108. white enamel coating of our teeth is



https://dl.doubtnut.com/l/_oVQKMqohTSrZ
https://dl.doubtnut.com/l/_34yN4bzHZHxY
https://dl.doubtnut.com/l/_SEVfr5pszn1d

o Watch Video Solution

109. Requires slightly alkaline soil.

o Watch Video Solution

110. requies acidic soil .

o Watch Video Solution

1. Requires neutral soil.



https://dl.doubtnut.com/l/_SEVfr5pszn1d
https://dl.doubtnut.com/l/_Sy2L6g7FIAs2
https://dl.doubtnut.com/l/_RBOHJUxkmFhK
https://dl.doubtnut.com/l/_iK73xmqowOsO

o Watch Video Solution

112. the pH of rain water is

o Watch Video Solution

113. IF the pH of rain water is less than 7 then

it is called

o Watch Video Solution



https://dl.doubtnut.com/l/_iK73xmqowOsO
https://dl.doubtnut.com/l/_9NWwrqM6aAn4
https://dl.doubtnut.com/l/_bB1e8OqEuC3m

114. An example of a neutral solutions is

o Watch Video Solution

115. Most reactions in chemistry are

system .

o Watch Video Solution

116. Equilibrium is possible is a

o Watch Video Solution



https://dl.doubtnut.com/l/_zPR8E6PBAlLS
https://dl.doubtnut.com/l/_6bL776MtK6sX
https://dl.doubtnut.com/l/_sI96XooFtEsG

117.In humans , all bio chemical reactions take

place between the pH value of to

o Watch Video Solution

118. is a state of a physical change at

which the volume of all phases remain

unchanged .

o View Text Solution



https://dl.doubtnut.com/l/_sI96XooFtEsG
https://dl.doubtnut.com/l/_SYPnTJRewamr
https://dl.doubtnut.com/l/_6CbaemJww6AM
https://dl.doubtnut.com/l/_h5Dn6fJMyZYA

119.1n a chemical equilibrium , the rates of the

forward and backward reactions are

o Watch Video Solution

120. Aerated soft drinks contain dissolved

in a pop bottle.

o View Text Solution



https://dl.doubtnut.com/l/_h5Dn6fJMyZYA
https://dl.doubtnut.com/l/_YVNXuRZhL5LB

121. Chemical equilibrium is a

equilibrium .

° View Text Solution

Additional Question Answers State Whether The

Following Statements Are True Or False Correct

The False Statement

1. pH of stomach fluid is approximately 2.0

o Watch Video Solution



https://dl.doubtnut.com/l/_tptsBbJbD4DK
https://dl.doubtnut.com/l/_JqMHPvOF5KJO

2. Chemical reaction involves breaking of old

bonds and formation of new bonds.

o Watch Video Solution

3. When a chemical bond is formed , energy is

absorbed .

o View Text Solution



https://dl.doubtnut.com/l/_NvOxcSRsR7ES
https://dl.doubtnut.com/l/_KUnCBH5AMwFK

4. In a chemical reaction , the number of
atoms of reactants and that of the products

must be equal .

o Watch Video Solution

5. Decompostion reaction is the opposite of

combination reaction .

o Watch Video Solution



https://dl.doubtnut.com/l/_4lNfsA3sQNcc
https://dl.doubtnut.com/l/_fOibEJw1JZFf

6. Chemical formula of marble is Ca(OH),.

o Watch Video Solution

7. A+BC —- AC+ B is a souble

displacement reaction .

o Watch Video Solution

8. Lead displaces copper from copper sulphate

solution .



https://dl.doubtnut.com/l/_TUhKPlldjjBR
https://dl.doubtnut.com/l/_wF6yuJIAVwM0
https://dl.doubtnut.com/l/_UoiMnon3nPki

o Watch Video Solution

9. Neutralization reaction is a type of double

displacement reaction .

° Watch Video Solution

10. Combustion reactions are exothermic.

° Watch Video Solution



https://dl.doubtnut.com/l/_UoiMnon3nPki
https://dl.doubtnut.com/l/_jGmABcaVtzBT
https://dl.doubtnut.com/l/_ryCCriPgfkHD

1. Recharging of mobile battery is a

irreversible reaction .

° Watch Video Solution

12. At the equilibrium of a reversible reaction ,
the concentration of the reactants and the

products will be equal .

° Watch Video Solution



https://dl.doubtnut.com/l/_KoZbbxjBOOGb
https://dl.doubtnut.com/l/_n08F12rENUYx

13.IF the reactants are gases , increasing their

pressure decreases the reaction rate.

o Watch Video Solution

14. Both physical and chemical changes attain

equilibrium .

o View Text Solution



https://dl.doubtnut.com/l/_W17K8Kc5VM2J
https://dl.doubtnut.com/l/_10snSYlYhJya

15. The pH of baking soda is 9, It is acid in

natural .

o Watch Video Solution

16. if pH of rain water is approximately 7, then

it is called acid rain .

o Watch Video Solution

Additional Question Answers Assertion And

Reason



https://dl.doubtnut.com/l/_Ej3mZhIDfFGe
https://dl.doubtnut.com/l/_iTt503lYYL0r

1. Assertion : combustion reactions are also
called as an exothermic and reason .

Reason : in these reaction , oxygen is added
and heat energy is released .

A. Both assertion and reason are true and

reason is correct explantion of assertion

B. Both assertion and Reason and reason

are true but reason is not the correct

explanation of asseration


https://dl.doubtnut.com/l/_rwBuY5wMOu9T

C. Assertion is correct but Reason is false

D. both assertion and reason are false.

Answer:

o Watch Video Solution

2. Assertion : Colour of copper sulphate
changes when an iron nail is kept in it .
Reason : copper is displacement by iron and

iron sulphate is formed .


https://dl.doubtnut.com/l/_rwBuY5wMOu9T
https://dl.doubtnut.com/l/_qoh9aY91DXlQ

A. Both assertion and reason are true and

reason is correct explantion of assertion

B. Both assertion and Reason and reason

are true but reason is not the correct

explanation of asseration

C. Assertion is correct but Reason is false

D. both assertion and reason are false.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_qoh9aY91DXlQ

Additional Question Answers Use The Analogy To

Fill In The Blank

1. pH less than 7 : acid :: pH greater than 7 :

° Watch Video Solution

2. Aerobic : presence of oxygen :: Anaerobic :



https://dl.doubtnut.com/l/_qoh9aY91DXlQ
https://dl.doubtnut.com/l/_xkZAGlOVXwsb
https://dl.doubtnut.com/l/_VtENHNAmzI5x

| ¥ Watch Video Solution J

3. pH 6.8 human saliva :: pH 1

o Watch Video Solution

4. Thermal Decomposition reaction
Thermolysis :: electrolytic Decomposition

Reaction:

o Watch Video Solution



https://dl.doubtnut.com/l/_VtENHNAmzI5x
https://dl.doubtnut.com/l/_bf1a3KPykxbh
https://dl.doubtnut.com/l/_oHswv7EBx2b1
https://dl.doubtnut.com/l/_yjgwPBg0aW0T

5. Energy is released : Combination reaction ::

energy is absorbed :

° Watch Video Solution

Additional Question Answers Answer In A Word

Or Sentence

1. What are the ions in aqueous solutions?

o Watch Video Solution



https://dl.doubtnut.com/l/_yjgwPBg0aW0T
https://dl.doubtnut.com/l/_XWScijMf2SmF

2. What are the major classes of double

displacement reactions ?

o Watch Video Solution

3. Can we get back the wood immediately from

carbon dioxide and water ? Why ?

o Watch Video Solution

Additional Question Answers Very Short Answer



https://dl.doubtnut.com/l/_UBM14gLaHZJQ
https://dl.doubtnut.com/l/_pQg4NP4nnP1f
https://dl.doubtnut.com/l/_LYi6tJGGLe7B

1. Define rate of reaction.

° Watch Video Solution

2. Identify whether the following reaction is

reversible or irreversible

o Watch Video Solution

3. Define endothermic reaction . Give an

example .

| e |


https://dl.doubtnut.com/l/_LYi6tJGGLe7B
https://dl.doubtnut.com/l/_4k3lBtLIIs3d
https://dl.doubtnut.com/l/_y0W30aUfIBsD

& Wwatch Video Solution ]

4. What is photoysis ?

° Watch Video Solution

5. Write a reaction of the type Compound +

Compound — compound.

o Watch Video Solution



https://dl.doubtnut.com/l/_y0W30aUfIBsD
https://dl.doubtnut.com/l/_TAc2ur5snOv7
https://dl.doubtnut.com/l/_vrt9f10qa0da

6. Identify how the following decomposition

reactions occur.

o Watch Video Solution

7. ldentify how the following decomposition

reactions occur.

2NaCl — 2Na + Cl,

o Watch Video Solution



https://dl.doubtnut.com/l/_RKaAlRQHSpj8
https://dl.doubtnut.com/l/_BDQYOEJZlER8
https://dl.doubtnut.com/l/_IAUJlvfZLTG9

8. What are metathesis reaction ?

o Watch Video Solution

9. What is LPG ?

o Watch Video Solution

10. What is activcation energy ?

o View Text Solution



https://dl.doubtnut.com/l/_IAUJlvfZLTG9
https://dl.doubtnut.com/l/_vfWdj2LpNqV5
https://dl.doubtnut.com/l/_sfEuqhORKo4B
https://dl.doubtnut.com/l/_6PkszxUIgQOh

11. Define concentration .

o Watch Video Solution

12. Food kept at room temperature spoils
faster than that kept in refrierator . Give

reason .

o View Text Solution



https://dl.doubtnut.com/l/_6PkszxUIgQOh
https://dl.doubtnut.com/l/_e81VrQDt5E6B

13. Powdered C'aC'O3 reacts much faster with
HCl than with solid marble chips . Accound for

the following .

o View Text Solution

14. Define a catalyst .

o Watch Video Solution

15. What is auto ionization ?



https://dl.doubtnut.com/l/_NzbsjpGT7kp4
https://dl.doubtnut.com/l/_JtSjLvkO6Njh
https://dl.doubtnut.com/l/_iyHyMXrvktH6

o Watch Video Solution

16. Define ionic product of water .

o Watch Video Solution

17. What is pH scale ?

o Watch Video Solution

18. Define pH .



https://dl.doubtnut.com/l/_iyHyMXrvktH6
https://dl.doubtnut.com/l/_GXMaqLMH8VzM
https://dl.doubtnut.com/l/_f5uBSljutFL2
https://dl.doubtnut.com/l/_iYsx4mz9LTUe

o Watch Video Solution

19. What is called universal pH indicator ?

o View Text Solution

20. Identify the type of chemical reaction

AB - A+ B

o Watch Video Solution



https://dl.doubtnut.com/l/_iYsx4mz9LTUe
https://dl.doubtnut.com/l/_pIOoeDwd1tqC
https://dl.doubtnut.com/l/_HswdNLwlWzs6

21. Identify the type of chemical reaction

AB+CD — AD +(CB

o Watch Video Solution

22. Why does silver not evole hydrogen when

treated with dilute acids ?

o Watch Video Solution

23. What is balanced chemical reaction ?



https://dl.doubtnut.com/l/_Y1RAVpslcQgO
https://dl.doubtnut.com/l/_EjTJ1O8zWwYO
https://dl.doubtnut.com/l/_IPfc1dlSiBlY

View Text Solution

24. Define reactant and product.

o Watch Video Solution

25. Write the chemical equations for the
following and identify the type of chemical

reactions.

Buring of magnesium in air

o Watch Video Solution



https://dl.doubtnut.com/l/_IPfc1dlSiBlY
https://dl.doubtnut.com/l/_uwNyXpOgmodN
https://dl.doubtnut.com/l/_opWIdXPrOjVm

26. Write the chemical equations for the
following and identify the type of chemical
reactions.

Electric current is passed aqueous solution of

sodium of sodium chloride

o Watch Video Solution

27. Write the chemical equations for the

following and identify the type of chemical


https://dl.doubtnut.com/l/_opWIdXPrOjVm
https://dl.doubtnut.com/l/_e7hqnchwS0v3
https://dl.doubtnut.com/l/_Zlda8hqqWzir

reactions.

Ammonium hydroxide reacts with nitric acid .

° Watch Video Solution

28. What is acid rain ?

° View Text Solution

29. Define eqiuilibrium state .

° Watch Video Solution



https://dl.doubtnut.com/l/_Zlda8hqqWzir
https://dl.doubtnut.com/l/_QZGitELtC6uo
https://dl.doubtnut.com/l/_bmdHBSurTkIK

Additional Question Answers Short Answer

1. What happens during a chemical change ?

° View Text Solution

2. Differentiate combination and

decomposition reactaions

o Watch Video Solution

Additional Question Answers Long Answer



https://dl.doubtnut.com/l/_QB2UjZ7VAG49
https://dl.doubtnut.com/l/_qsozDZVG2Mre

1. Explain the classification based on the

direction of the reaction.

o Watch Video Solution

Additional Question Answers Higher Order

Thinking Skills Hots

1. you are given the following materials
1. Marble chips
2. Dilute hydrochloric acid

3.Zinc granules


https://dl.doubtnut.com/l/_L3znfVe8DkoO
https://dl.doubtnut.com/l/_i9m5LXiSS4yO

Identify the type of reaction when marble
chips and zinc granules are added separately
to acid and zinc granules are added separately
to acid taken in two tubes . write chemical

equations in each case.

o Watch Video Solution

2. Zinc granules react with hydrochloric acid to
form zinc chloride accompanied by hydrogen
gas . It is a displacement reaction .

Z'n,(s) +2HCl(aq) — ZnC’lg(aq) —I—Hz(g).


https://dl.doubtnut.com/l/_i9m5LXiSS4yO
https://dl.doubtnut.com/l/_ro6DwAOvbicI

Based on the reactions given below arrange
the metals involved in these reactions in
decrasing order of reacitivity give suitable
explanation .

1. Zn + CuSO4, — ZnSO,4 + Cu

2.Cu + 2AgNO3 — Cu(NO3), + 2Ag

3. Zn + FeSO, — 0ZnS0O, + Fe

4. Fe + CuSO,; — FeSO4 + Cu

o Watch Video Solution



https://dl.doubtnut.com/l/_ro6DwAOvbicI

3.Zinc granules react with hydrochloric acid to
form zinc chloride accompanied by hydrogen
gas . It is a displacement reaction .

Zn sy + 2HCU(oq) — ZnCly(aq) + Ha(g)-

What is the nature of the reactions .

o Watch Video Solution

4. A strip of a metal X is immersed in the
aqueous solution of salt Y SO, blue in colour .

After sometimes , a layer of metal Y from the


https://dl.doubtnut.com/l/_BR4zCUbL2TlT
https://dl.doubtnut.com/l/_BhARh13H5HhO

salt solution is deposited on the strip of the
metal x. The metal x is used for galvansiation ,
the metal Y is employed in making electric
cables .

Presict the metal x.

o Watch Video Solution

5. A strip of a metal X is immersed in the
aqueous solution of salt Y. SO, blue in colour .
After sometimes , a layer of metal Y from the

salt solution is deposited on the strip of the


https://dl.doubtnut.com/l/_BhARh13H5HhO
https://dl.doubtnut.com/l/_JRURaHKdvFR6

metal x. The metal x is used for galvansiation ,
the metal Y is employed in making electric
cables .

what could be the metal Y ?

o Watch Video Solution

6. A strip of a metal X is immersed in the
aqueous solution of salt Y SO, blue in colour .
After sometimes , a layer of metal Y from the
salt solution is deposited on the strip of the

metal x. The metal x is used for galvansiation ,


https://dl.doubtnut.com/l/_JRURaHKdvFR6
https://dl.doubtnut.com/l/_9atwKICeMUbU

the metal Y is employed in making electric
cables .

Can you name the salt solution ?

o Watch Video Solution

7. A strip of a metal X is immersed in the
aqueous solution of salt Y SO, blue in colour .
After sometimes , a layer of metal Y from the
salt solution is deposited on the strip of the
metal x. The metal x is used for galvansiation ,

the metal Y is employed in making electric


https://dl.doubtnut.com/l/_9atwKICeMUbU
https://dl.doubtnut.com/l/_DkSliXoj0nhc

cables .
What is the nature of the chemical reaction

taking place?

o Watch Video Solution



https://dl.doubtnut.com/l/_DkSliXoj0nhc

